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I[OMaIIIHee 3aJaHHE 110 TEME. «HpO]/I3BOI[HI>Ie BBICIHIHNX MMOPAAKOB)»

Haiitn nmpon3BogHbIE YKAa3aHHBIX MTOPSAIKOB:

1)(1021)  y=(1+x*)-arctgx,  y"—?

2

2) (1019) y=x-e°, y'—2

3) (1088(1)) y=(x*>+1)-sinX, yZ0_9

4)(1037)  y=log, X, y™_2

5)(1032)  y=sin’x, y™_2

6) (1033)  y=x-e¥, y™_9

7) (1074(1)) {X ~ot -2
y=t>-1,

X = arcsint,

H_(?
y=In(1-t3), o

8) (1074(2)) {

9) (1056)  b*x*+a’y*=a’h?, y"—? (ab —const)
10) (1061)  y=sin(x+Y), y"—?

Otsetnr: 1) Y = 2arctg X + 2) v = (4x% + 6x)e" ;

1+x*

x"-lna

5) yW =2 ‘S“‘(z“%(n —D]; 6) y™ =e*-(x+n);

3) vy = (x*> =379)sinx — 40xcosx; 4) y™ = (=D

1-t*°
b -y
9 y'=- 10) y' = -
y a’-y’ y (1—cos(x+y))

7) y" = 4t%; 8) V' =




	Домашнее задание по теме: «Производные высших порядков» 

